
 
   I    Some comments on Tuesday’s Assignment 
  II   Discussion of today’s assignment.  
       A. (In small group) Compare you answers; discuss any items that you found difficult .   
       B.. Plenary discussion of answers and the patterns exhibited by them. 

 
    II   Comments on why the good patterns work and faulty ones don’t. 

 
 
 
 
 
 

 
 

 
 
 
 

  
III A. In a small group, read  selection Gender Tests May Not Be Worth Risk of Misuse on the back of this page. Restate in 

standard form what you take to be the main argument put forth in it.   
      B. Plenary discussion of the task 
 

IV. Plenary discussion on using patterns to “fill-in” implicit premises 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 V  A. (In a small group)  
1. Read and discuss the main point in the article Eschewing politics a small price to pay for tax breaks 

churches demand on third page. What is the main  point of the author and how in general is it supported? 
2. Discuss how to fill in the blanks on the page that follow it.  List the pattern.  
3. Discuss how some or all of these reconstructions could be linked into a more extensive version of the 

overall argument in the passage 
        B. Plenary discuss the overall arguments 
 
VI Segue to ethics class (time permitting) 
 

 

Assignment for Tuesday, April 12: Read remainder of Chapter 3 Submit Exercise 3.1 A 6,8,10    
B 4,6,8,10,12,14,16  C 2,4 

B 
A 

Assume these are all Alternatives for A 
   If I go outside 
 
   If I eat a lot of ice cream 
 
   If I sit by the window 

                B 
      then I’ll get cold. 

      If A, then B 
      A  

    B 

      If A, then B 
      B  

  A 

      If A, then B 
      Not B  

   Not A 

      If A, then B 
      Not A   
 Not B 
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We have a choice.  Unfortunately, we risk 
environmental catastrophe because we will 
not curb hydrocarbon emissions 
 
(1) Either [                                            ], 
     or we risk environmental catastrophe. 
(2) We will not curb hydrocarbon  
      emissions                                            
 

 We risk environmental catastrophe. 
 
 
 

Even if we act immediately to tackle the problem of 
climate change, coastal areas will face devastation.  A 
growing consensus of climate scientists  believes that in 
the best case scenario, even if we take extreme action to 
protect the environment, there will be a 1 to 2 meter 
rise in sea level. 
 
 (1) If we act immediately to tackle the problem of 

climate change, then there will be a 1 to 2 meter 
rise in sea level.. 

(2) If  [                                                       ],  
      then [                                                     ].   

 If  we act immediately to tackle the problem of 
climate change, then coastal areas will face 
devastation.  





 


